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Do subtraction. 

① ３－２ 

 

 

② ６－１ 

 

 

③ ９－５ 

 

 

④ ７－４  

 

 

⑤ ８－６ 

Do subtraction. 

⑥ １０－１ 

 

 

⑦ １０－５ 

 

 

⑧ １０－９ 

 

 

⑨ １０－４ 

 

 

⑩ １０－７ 

Practice１０－□. 

① １０－１  ② １０－ ２  ③ １０－３  ④ １０－４  

⑤ １０－５  ⑥ １０－ ６  ⑦ １０－７  ⑧ １０－８ 

⑨ １０－９  ⑩ １０－１０  ⑪ １０－０ 
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Subtraction 
  ねん   くみ 
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Do Subtraction. 

 

① １４－５ 

 

 

② １５－６ 

 

 

③ １１－８ 

 

 

④ １３－６ 

 

 

⑤ １２－３ 

Do subtraction. 

 

⑥ １７－９ 

 

 

⑦ １１－２ 

 

 

⑧ １８－９ 

 

 

⑨ １６－８ 

 

 

⑩ １４－７ 

Practice subtraction with borrowing. 

 

①11－２＝9 ②11－３＝8 ③11－４＝7 ④11－５＝6 ⑤11－６＝5 ⑥11－７＝4 

 

⑦11－８＝3 ⑧11－９＝2 ⑨12－３＝9 ⑩12－４＝8 ⑪12－５＝7 ⑫12－６＝6 

 

⑬12－７＝5 ⑭12－８＝4 ⑮12－９＝3 ⑯13－４＝9 ⑰13－５＝8 ⑱13－６＝7 
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Connect the dots for the sentences 

which have the same answers. 

１８－９ ・  ・１０－５ 

 

 

 ９－４ ・  ・１２－６ 

 

 

１３－７ ・  ・ ８－５ 

 

 

１１－８ ・  ・ ４－０ 

 

 

１０－６ ・  ・１７－８ 

Write math sentences and answers. 

・ There were 11 balloons. 2 flew 

away. How many balloons are 

left? 

 

しき 

 

こたえ 

 

 

・ There are 8 cats. There are 16 

dogs. How many more dogs are 

there than cats? 

 

しき 

 

こたえ  

 

There are    more dogs than 

cats. 

             

Practice subtraction with borrowing. 

 

①13－７＝6 ②13－８＝5 ③13－９＝4 ④14－５＝9 ⑤14－６＝8 ⑥14－７＝7 

 

⑦14－８＝6 ⑧14－９＝5 ⑨15－６＝9 ⑩15－７＝8 ⑪15－８＝7 ⑫15－９＝6 

 

⑬16－７＝9 ⑭16－８＝8 ⑮16－９＝7 ⑯17－８＝9 ⑰17－９＝8 ⑱18－９＝9 
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Do subtraction. 

① ５０－４０ 

 

 

② ６０－３０ 

 

 

③ ８０－２０ 

 

 

④ ７０－３０ 

 

 

⑤ ９０－７０ 

Do subtraction. 

 

⑥ １００－１０ 

 

 

⑦ １００－５０ 

 

 

⑧ １００－７０ 

 

 

⑨ ５０－５０ 

 

 

⑩ １００－１００ 

Practice１００－□. 

 

①100－１０＝９０ ②100－２０＝８０ ③100－３０＝７０ ④100－４０＝６０ 

 

⑤100－５０＝５０ ⑥100－６０＝４０ ⑦100－７０＝３０ ⑧100－８０＝２０ 

 

⑨100－９０＝１０ ⑩100－１００＝ ０⑪100－０＝１００ 
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Subtraction 
  ねん   くみ 
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Do subtraction. 

 

① ２３－３ 

 

 

② ８１－１ 

 

 

③ ５７－７ 

 

 

④ ４９－９ 

 

 

⑤ ６０－０ 

Do subtraction. 

 

⑥ ２９－６ 

 

 

⑦ ８４－３ 

 

 

⑧ ３８－５ 

 

 

⑨ ７７－２ 

 

 

⑩ ９９－７ 

 

 
４２－２ 

Tens Place Ones Place 

○○○○ ○○ 

2 is subtracted from ones place. 

 Ones place  ２－２＝０ 

Answer is   ４０ 

 

  一のくらいは０ 

２４－３ 

Tens Place Ones Place 

○○ ○ ○○○ 

 3 is subtracted from ones place. 

 Ones place ４－３＝１   

20 and 1 make  ２１ 

 

 

You can 

calculate by 

places. 
  


